X1/ /, D X = .
110 - 1 2= BAITEE (— - Z4F4%)  10m
al|H | —|Z | = || AN B = {7 =
1 Fg
1 29 [ 30 | 31 | 91| 2 3 4 |23 EYISE (—)
3 EESEEEEEEERT (5)
6 558 ERMA BRSO
8  MEEEmE (-3
) 5 6 7 8 9 10 | 11 |10 HPVE—EEE &)
10-11 ERERE/I4&R
11 #9220 B—HERE
16 FHsTES
3012 | 13| 14| 15]16| 17 [ 18 | pecm
4 19 [3€20| #21| 22 | 23 | 24 | 25 [20-21 dkiEfe
28 ZETES
5120 | 27|28 | 29|30 |100] 2 | pesmmmmmes:
6 3 4 5 6 7 8 9
. 10-11 EEp#E{E
T | #10 11| 12 | 13 |AL4| ALS| 16 ||\ jsem sepns
8 17 | 18 | 19 | 20 | 21 | 22 | 23 |19 #@¥RRX@Ezes® (—)
27 M MEEHAEEEYE (O
0 24 | 25 | 26 | 27 | 28 29 30 28 EEEEEM (—)
) ERHE-ERES - EFETE (—)
10131 [11/71] 2 I3 |4 5 6 3 BEEAEE O
34 2% 13 MRS (5)
11 7 8 O | 10 | 11 | 12 | 13 614 mmrpems
121 14 | 15| 16 | 17 | 18 | 19 | 20 |19-20 k88 50 F4EES)
13 | 21 22 | 23 | 24 | 25 26 2T 122 R
14 | 28 | 29 | A30| A2I| 2 3 4 |30-1 Bz
7 MEBEUEEEEAEE &)
151 5 6 7 8 9 10 | 11 |9 @REgEREEHE (—)
9 EEETBERE O
16| 12 | 13| 14 | 15| 16 | 17 | 18 |16 ceastE — )
17 119 | 20 | 21 | 22 |H23| W24 | 25 [23-24 5% 14 MHESES (2)
30 BURBSCRE (—- D)
18 | 26 | 27 | 28 | 29 | 30 | 31 [#U1}, ~pom
o {E BB OE (@R e
19 2 3 4 5 6 7 8 7 g e
20 9 10 | 11 12 | 13 14 15
19-20 E=RExE
21 [ 16 | 17 | 18 |AI9|A20| 21 | 22 | semmmm
A RS CO)(O)HRFTEER




SLg iR (- - E)

KL o —
(2 %w) AL = s

9/2 |FTg->F1¢ 7 &R HALE

9/9 B 2 B %;>#4§&$%wﬂ
9/16 |FLé¢-p LehE & S Y Fpt EE R
9/23 | WA

9/30 |

10/7 |Frg-2id = 2

10/14 |54 (Stsrg) s
10/21 | 5 3is 8

10/28 |z1¢ -2 ¢ 4 Fk3d

11/4 | B3 &

11/11 | B35 ¥

11718 |51¢-te &8 ¢ &g

11/25 |51¢-p 153 e 3

12/2 | e b nedha b
12/9 |51¢-Jj= %3 4 iRk fiifj?iwwﬁ>
12/16 | B 3is &=

12/23 |FLg¢-FabmyEx >

12/30 | B 3his &=

v AR &

1/6 ag;j‘g%ﬁ o

1/13 | FL¢ -8 & 3t

1/20 5z ERT 4 fF W FT

110.8 E27%5




